1. What is the Capital of Zimbabwe?

2. Who adopted Indian constitution after independence?

3. Who elects the Prime Minister?/ Who appoints the Prime Minister?
4. What is ‘Ace’ in tennis?

5. |If reading in barometer is declining fast, what will happen ?

6. Who is the First recipient of Rajiv Gandhi Khel Ratan Puraskar?

7. Jammy is the nickname of which cricketer ?

8. Irani trophy is related to which sports?

9. What are Mediterranean Islands known as ?

10. Who founded Khilji dynasty?

11. Independence bill/ Indian Independence Act was passed on which date ?
12. Who is the writer of ramcharitmanas?

13. Who wrote ‘book of aryans’?

14. Who translated Upanishads in Persian?

15. Wind blows at surface due to ?

16. Where is the College of defence management located?

17. Who was first Arjun Award awardee?

18. Who wrote Panchatantra?

19. Igneous rock example (Ans. Granite)

20. What was the main source of early aryan visitors?

21. What is the zone between tropic of cancer and tropic of Capricorn called?
22. Which is not a tributary of Brahmaputra?

23. Wimbledon is played in which country?

24. Yakshgana is the folk and tribal dance of which state?

25. Which of the following is known as Jovian planet?

26. Synonym of Industrious

27. Antonym of Wreck

28. Antonym/ Synonym of Baffle



29.

30.

31.

32.

33.

34.

35.

36.

Antonym/ Synonym of Belligerent

Antonym of Blissful

Synonym of Mitigate

Idiom - To keep one’s head above the water

Idiom - To spill the beans

Odd one out 1. red soil 2. Anthracite 3. alluvial soil 4. Black soil
Odd one out 1.kangaroo 2.kiwi 3.royal bengal tiger 4.giant panda

Odd one out 1. Temperature:Fahrenheit 2.Distance:Metre 3.Newton: Force

4.Luminous:Candela

37.

38.

39.

40.

41.

42.

Odd one out 1.Pancreas 2. Pituitary gland 3.Thalamus

Which one is different? (a) Victoria (b) Superior (c) Nile (d) Michigan
India : Lotus :: __ :lris

Venn diagram - Teacher, Graduate, Player

Venn diagram - Page, Chapter, Book

Sachin scored 12000 in certain innings of its . In next five matches he manage

to score just 95 runs such that his avg decreased by 1. Then what is the total no. of
matches played by him?

43.

If a person score 95 runs in it's 15th innings and average increase by 5 find the

average after 15 the innings

44.

45.



